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QUESTION 1

Which of the following drive 5G higher reliability? 

A. Higher spectral efficiency 

B. Multi-connectivity per User Equipment 

C. Connectionless radio access 

D. Lower Time Transmission Interval (TTI) 

Correct Answer: A 

Reference: https://learningstore.nokia.com/doc/5g/5G_Foundation_Study_Guide_BL00125_M_%2020 02.pdf (9) 

 

QUESTION 2

What is the role of 5G in meeting the automation needs of Industry 4.0? 

A. 5G plays a minor role on Industry 4.0 because the requirements are mainly focused on mMTC and IoT. 

B. 5G requirements for Industry 4.0 are mainly focusedon Ultra high bandwidth needs. 

C. 5G plays an important role on Industry 4.0 because it enables the cloud automation with baremetal platforms. 

D. 5G requirements for Industry 4.0 are mainly focused on ultra low latency characteristics but also fromhigh throughput
and massive connectivity. 

Correct Answer: D 

 

QUESTION 3

Which of the following statements are applicable to the technology of massive MIMO? (Select 3) 

A. Several data flows are sent at the same time on the same frequency. 

B. The signals on each antenna are made orthogonal. 

C. The data flows are sent at the same time on different frequencies. 

D. Transmit diversity is used in case of poor radio conditions. 

Correct Answer: ABD 

 

 

QUESTION 4
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Resource elasticity in Cloud enables which of the following actions? (Choose two.) 

A. Relocate VMs between data centers when a fault is detected. 

B. Deploy VMs across data centers when a new slice is needed. 

C. Add resources to existing VMs when traffic is high. 

D. Add VMs when traffic is high. 

Correct Answer: AD 

 

QUESTION 5

When considering Cloud and Transport orchestration, evaluate whether the following statement is true or false: NFVO is
to Cloud what SDN is to Transport. 

A. False 

B. True 

Correct Answer: A 
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